BIC

5x10°

log[ Relative Probability ]

—200

Window Half—Width (km/s)

2x108

108

2x10°

5

10

0

—100

10*

1000

rm253 2/(409783 —5138)=0.886
F T T T T T T f
; BIC 424978 53 ABIC 0.000 AlogP 0.0000
I X% 358578.19 Ax? 0.000 AlogP 0.0000 ]
e .
) P S | - ]1BIC
I © T ABIC —657600 1164 ( 1 X
i Ax? —657600 1.2 «( |
5048 5048 5138
A . , . AC '. . ACSF . .
20 40 60 80 100 120
120 iterations
rm253 2/(409783 —5138)=0.886
T | T | T | |
I ; BIC 424978.53 ABIC 0.000 AlogP 0.0000 ]
I , A ]
L 5048 | so048 ||| | s138
: A . . ACs .
20 40 60 80 100 120
120 iterations
Fe2 15% 1485+190 km/s
rm253 BLR 9350 NLR 900 km/s
T | T | T | T | | H
e BLR
I Fell
— -
o o NLR
L u

120 iterations

kdh1 12-0ct-2021 15:48



